Tables: Missing pumbers

B ™ = 24
[ ST 4 = 42
2 = 16
2 X = 18
6 X = 30
7 X = 49
3 x = 18
9 x = 54
9 X = 18
4 X = 20
9 X = 36
4 X = 20
6 X = 24
g4 X = 32
10 = = 20
4 X = 20

4) This rack holds 140

Y ey, Lo

Working (vlathematically

1} 81 chairs are needed for the

children to =it in the hall. The
chairs need fo be arranged in rows
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How mamy rows will
there be?

21 Sally spent 63 doys

travelling fhrouah England .

How many weeks
was this?

3) If T arranged 72 blocks in B rows.

How many in each row?

If T orranged 72 blocks in @ rows
How moany in each row?
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How many C0's
can each shelf
hold?
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559 Bean Bongs B B RS
How marny groups of 8 can
be made from all these

bean bags?




